LO - To solve word problems, using a number line

(1) Josie has 30p. She gives her little brother 10p. How much money does Josie have left?

15
1 12 13 14 \ 16 17 18 19

25
21 22 23 24 \ 26 27 28 29

35
31 32 33 34 \ 3|6 37 38 39

4 4 43 4 \ 46 47 48 49

(2) Nihath has 16 sweets. Mr Medza gives him another 7 sweets. How many sweets does Nihath have altogether?

15
1 12 13 14 \ 1|6 17 18
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25
21 22 23 24 \ 2|6 27 28 29

35
31 32 33 34 \ 36 37
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41 42 43 44 \ 46 47 48 49

(3) Sultana has 18 pencils. Mrs Chambers has 9 more than that. How many pencils does Mrs Chambers have?
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15
11 12 13 14 \ 1|6 17 18 19

25
21 22 23 24 \ 2|6 27 28 29

35
31 32 33 34 \ 3|6 37 38 39

41 42 43 44 \ 46 47 48 49

(4) Miss Watson is carrying 25 pieces of paper. She drops 8. How many pieces of paper are left in her hands?

15
12 13 14 \ 16 17 18 19
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25
3 24 \ 26 27 28 29
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35
31 32 33 34 \ 3|6 37 38 39

41 42 43 44 46 47 48 49
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